Farming in LEDCs

Task 1 Read the extract and answer the questions




a) What kind of farming is described here – commercial or subsistence?
............................................................

b) Are the inputs high or low? 
........................

c) Is this intensive or extensive farming? .................................

d) Describe one human factor which is causing problem in food supply.
.........................................................................

e) Describe one physical factor which is causing problems in food supply. ......................................................................

f)Name two environmental problems that are caused by farmers in Nepal. 1. ........................... 2. ................................

Task 2 Farming in LEDCs in general and vs MEDCs

a) What is the importance of agriculture? 1. .................................2. .................................... 3. .......................................

b) How can agriculture in LEDCs be divided?
	Area
	How

	
	

	
	

	
	


c) Reasons for decrease in production per head in many countries:

........................................................................................................................................................................................................................................................................................................................................................................................

d) Compare farming in MEDCs and LEDCs

	Farming in MEDCs
	Farming in LEDCs

	
	



New vocabulary:

Industry
Task 1 Classification - Match the examples with the correct category

car industry, media, mining, farming, transport, high technology, fishing, universities, steelworks, medical services, research, forestry, development

	Primary Industries
	Secondary Industries
	Tertiary Industries
	Quaternary Industries

	The extraction of materials
	Manufacturing industries which involve the transformation of raw materials (or components) into finished products or semi-finished products
	Provide a service to customers
	Provide information and expertise

	
	
	
	


Task 2 Factors influencing location

	Physical factors
	Human-economic factors

	
	


Task 3 Employment

These figures show the % of the workforce employed in different types of industry in two different countries.

	
	Primary
	Secondary
	Tertiary/Quaternary

	Country A
	2
	32
	66

	Country B
	94
	3
	3


a) Which of these countries, A or B, is Nepal?

b) Which of these countries, A or B, is the U.S.A.?

Complete the sentences:
In MEDCs most of the workforce is employed in ............................... industry.





In LEDCs most of the workforce is employed in ................................. industry.

c) Write these words in the correct boxes to show a bakery as a system

baking   
  cakes   
labour force        
flour
money (capital)
    sugar
      bread        kneading dough
	Inputs
	Processes
	Outputs

	
	
	


Nepal, in the Himalayas, has a very rapidly growing population and it is becoming increasingly difficult to provide enough food. It is difficult to find suitable land on steep slopes and so the land is terraced but plots are very small (often under two hectares). The people work hard to try and grow food for themselves and to find grazing land for their animals but the soil becomes exhausted. Trees have been removed and animals graze on everything. In the heavy monsoon rains, the loose soil is washed away and there are landslides, destroying the terraces.











